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We showed in Section 3.3 that when one fits the binary logistic regression model

containing a single dichotomous covariate, that the estimate of the coefficient is

equal to the log of the cross product ratio of frequencies from the two by two table

cross-classifying the outcome and the covariate. The same holds true for the

multinomial model for each two by two table that has one row for the base out-

come and the second row for one of the other levels of the outcome.

Example 3.9 (cont)
The result of fitting the multinomial logistic regression model of BWT on

smoking during pregnancy (SMOKE), is shown in Table 3.15.

Example 3.9 (cont)
The appropriate frequency table for the model whose fit is in shown Table

3.15 is presented below in Table 3.16.

Table 3.15 Results of fitting the multinomial logistic regression model of BWT3 
on maternal smoking during pregnancy (SMOKE), n = 189.

Outcome group Estimate SE z P 95% CI

2500< BWT<=3200

SMOKE 0.706 0.3761 1.88 0.061 (–0.0315, 1.4427)

Constant –0.523 0.2231 –2.35 0.019 (–0.9605, –0.0860)

BWT<=2500

SMOKE 1.027 0.3692 2.78 0.005 (0.3035, 1.7508)

Constant –0.622 0.2302 –2.70 0.007 (–1.0729, –0.1705)

Table 3.16 Cross-classification of the three-category birth weight outcome ver-
sus maternal smoking status during pregnancy.

Outcome (BWT3)

Smoking Status

No Yes Total

BWT>3200 54 20 74

2500<BWT<=3200 32 24 56

BWT<=2500 29 30 59

Total 115 74 189
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